
1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 1  OF 1 

DRAWN

CHECKED

QA

MFG

APPROVED

EAS

EAS

EAS

EAS

7/30/2014

7/30/2014

7/30/2014

7/30/2014

DWG NO

2472

TITLE

Model 1013-COVER Customer Print

SIZE

C

SCALE

REV

6

TOLERANCE:            .0 = +/- .030

                               .00 = +/- .015

                              .000 = +/- .005      

Oberon, Inc. - 1315 S. Allen St. - State College, PA 16801

NOTE:

- Material: White Textured Powdercoated 16 Ga. Steel Brackets

               White Haircell Textured Boltaron 6530 Dome

- Includes:

  (1) Antenna/AP Mounting Plate

  (1) Articulating Bracket

  (1) Dome Cover

  (1) T-Bar Bracket

  (4) #6-32 x 1/2 Pan Head Screw

  (2) #8-32 x 7/16 Flat Head Screw

  (2) #6-32 x 3/16 Pan Head Screw

  (2) #6-32 x 1/4 Pan Head Screw

  (4) #8-32 x 3/16 Pan Head Screw

  (4) #8-32 x 5/8 Pan Head Screw

  (2) Cable Tie

  (4) Press Adhesive Fastener

4
.
1
7

1
0
.
8
7

10.87

45°

11.59

1
1
.
5
9

ANTENNA/AP MOUNTING PLATE

T-BAR BRACKET

35° ARTICULATION

DOME SNAP TABS

7.00


